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Chapter- 3 - Addition

» Summary

1. Addition by pictures

t addition
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3. Three d

4. Addition (Horizontal)

5. Word problem

Ivity
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tr

mw‘@ﬁ Cr oo lolpololalolalelalololalolalelolp lalplolalo lale lalo lo b lola e o ln balp lalalo ba b ba la La bu Lo ba b b b Lp bp L ba b b L L L L Lip L U B 8 i 8 Ur U aW
L o M M C P P S M I P P S o R s L L L S S o M P P P S e P L L S o s P L P S e M s G L o o I L L L S e M s B P M o o L P



O O O N O O N O O N O O O PO O IO
by pictures
5
CWPONPRNFRNF NP taP et tataftaf

¢ (@)) “
¢ N o LO tr
¢ m __ am..
! = I I I te
¢ ' — 3 aﬂ.
W ”m Q) < AN W
7 te
3 + 4+ 37 + 9T 4+ +
t . ts
< e <t Lo o © “
e s
s et
s > s
te 2\ te
et et
[ 2 124
te, te,
te te
[ 2 124
o i
“ « te
“ Qc ‘e
[ 2 124
L s
te, te,
[ 2 124
te te
fe te
[ 2 124
be te
s ts
[ 2 124
te, . . ] ] te,
e — oY ™ < fe
te, %
[ 2 [ 23
o -
ts 12
be, te,
atv Qﬁw

ew. Crlalalolalelalpn lalplolalolalelalololololalolaole ol lolalo bl bala la b lola le ba e balp Lo la b ba b ba la Ca b Lp bp b b b L L L Up 8 8p 8 8 B 8ip U 8 Up U U aw.
L o M M C P P S M I P P S o R s L L L S S o M P P P S e P L L S o s P L P S e M s G L o o I L L L S e M s B P M o o L P



brlarlalaololaolelaln lplplolalrbale lalarlolaololalrlale ol lala ol ln baln la b lolao o laln baln o lplala ln ba b ba bu Lp bp br bp b 8 bu L b L 8 8 8 L 8 Ui 8p Ui L U U
LA Coh Ch o o Z M M C L L P o M P P o S o R o P L L S o M P G L e e M Py G L o e P L L o o o o L L o e M P P L o o o L L L

11

3

12
Y

ition
6
2
2
10
5
5
3
13

Iton
6

+5
+
t add

t add
igi

igi

Oned
9
+0
Threed

i
o
o3
9

11

o
o

oy

Oyt
4
+3
+
«

iy
10
=

™

2
5
4
5
+1
10
3
6
5
14

m‘ Q\‘

...w.w.@ﬁ Cr oo lolpololalolalelalololalolalelolp lalplolalo lale lalo lo b lola e o ln balp lalalo ba b ba la La bu Lo ba b b b Lp bp L ba b b L L L L Lip L U B 8 i 8 Ur U eW
L o M M C P P S M I P P S o R s L L L S S o M P P P S e P L L S o s P L P S e M s G L o o I L L L S e M s B P M o o L P



brlarlalaololaolelaln lplplolalrbale lalarlolaololalrlale ol lala ol ln baln la b lolao o laln baln o lplala ln ba b ba bu Lp bp br bp b 8 bu L b L 8 8 8 L 8 Ui 8p Ui L U U
L Ch o M C I C C L o o I L P S o e o L L P S o I P L Lo S e I L B S o I P P L P o e M P G Lo o e M L L L S o o M B P P 2 o e L P

¢z

tal)

1Z0Nn

(Hor

Iton

Add

XS

*%

tr

mw.@ﬁ Cr oo lolpololalolalelalololalolalelolp lalplolalo lale lalo lo b lola e o ln balp lalalo ba b ba la La bu Lo ba b b b Lp bp L ba b b L L L L Lip L U B 8 i 8 Ur U aW
L o M M C P P S M I P P S o R s L L L S S o M P P P S e P L L S o s P L P S e M s G L o o I L L L S e M s B P M o o L P



’3’9"3‘79"8’0‘98"3‘98’9#3'9#0’9#0’9#0lo#0"‘)#{}"3#{}"()‘90'9#0'9#3‘;3;)‘;3;9‘; R A R R Rt LR Al Sl S Rt ot ot e R op S o S o S S L N S L R, R S R L S L S R L R, L S, S S L,

p B e S o B o L S L S L R L S, N, S S

o P S

e N L S L S L R R, L S L S, R, S s

s Word problem

1. Geeta has 3 toffees and Lata has 5 toffees. How many toffees
they have altogether?

Ans. 3 Toffees
+5 Toffees

Total = 8 Toffees

2. Rahul has 6 pencils. Joy has 3 pencils. How many pencils do
they both have?

Ans. 6 Pencils
+3 Pencils

Total = 9 Pencils
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